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37. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

(A) But whether the selection of wild edible plants by 
ancient hikers relied on conscious or unconscious 
criteria, the resulting evolution of wild plants into crops 
was at first an unconscious process. It followed 
inevitably from competition among plant individuals in 
gardens favoring individuals different from those favored 
in the wild. 

(B) Some of it, such as the variation in berry size or in nut 
bitterness, would have been readily noticed by ancient 
farmers. Other variation, such as that in seed dispersal 
mechanisms or seed dormancy, would have gone 
unrecognized by humans before the rise of modern 
botany. 

(C) That's why, in his great book On the Origin of Species, 
Darwin's first chapter is a lengthy account of how our 
domesticated plants and animals arose through artificial 
selection by humans. Rather than discussing the 
Galapagos Island birds, Darwin began by discussing how 
farmers develop varieties of gooseberries!

① (A) - (C) - (B)          ② (B) - (A) - (C)
③ (B) - (C) - (A)          ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

The differences between gigantic supermarket 
strawberries and tiny wild ones arose initially from 
natural variation among the wild plants themselves. 


